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Input pulse

Pulser into 50Ω 350mV peak   width at base = 400ps       Q = ½(400ps)350mV/10000 =  57fC  



Seville  amplifier output

Peak 27mV
Rise 342ps
Width between markers  900ps.

Positive and Negative inputs  indicate some pickup from pulser
We really need an APD at this point. Will change pulser to a Vstep
through cap to allow us to  attenuate the incoming signal:
30mV and the capacitance to  1pF  to reduce  pickup 

Replaced  original 
transistors with
Input & output  
BFU690   NPN’s
Emitter Follower  
BPF740

All lower 
bandwidth
Multi-GHz 
transistors 

Need to add  capacitance at the 
input to mimic APD
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